nnnnn
nnnnn
nnnnn

nnnnn
nnnnn

—

B\

QL1

BK-027
1200X850X2180mm




Al A2

S| | %

A6 A7

16 | [+) J‘I—|

All Al2 [E

Al6 Al7

= M

A21‘%@ A22

M4x20 4pcs| |Max3g 4PCS

A A27
S = _
' a8 /

@ 310 B =

A3l




wwoglLe >

ww 00cl

wwroorl




Wy




A4 AS
.|

A3

A23

M4 x10

A2

M4x30 4pcs

S | 5 | T

Al

Azl% A22%

M4x2 0 4pcs

Al

Al

B

Al

A2

A4~

Al

\ A4




A7

A6

A24

(s TR TaT ]
N9

i

A23

A4

Al3

A3

A8

g QLS R

A7
A26







ON

oo

A19

%

®

7

ST







OIN

-
Al2 Q
(;Io-oﬂl 1 s
Q@mﬂno
o
: \*
Hot water Control hand shower

Control top shower

Cold water Control foot massager

Switch

Control sharp massoger

Using instruction for shower room

1. open the switch, it can a djust the hot and cold water by turning into
right and left,it is fine when you feel the temperature is ok.

2. Turning the adjuster ,it can control water running from the hand
shower ,foot massager,sharp mass ager and top shower.

3. The hydraulic pressure is 0.4Mpa in every part.

4. Please turn off the power and switch of the shower room after you used
it.

5. Please swab the shower room with soft cloth,it will keep new.
The front and back of shower roo m are high - quality tampered
glass,please don'timpactit.



\\V

‘oooooooo

BUUSIUY

MOVI V0L ZHOG A0CC

10



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11

